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Time : 3Hrs. Sem. V - Mech. GROUPA
AMP 1. Choose the most suitable answer from the following

Full Marks : 70 1x20=20

options :

wod ewo(dipaiqs mma/sdny

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries I marks.

qu-A ¥ | 20 93 § IR T, WS U B AA [ AT 2 |

Answer all Five guestions from Greup B, cach question
carries 4 marks.

g9-B € w0l uia uel & o, Adl® 9 B A LAB 2 |

Answer all Five questions from Greup C, each question
carries 6 marks.

7u-C & et uig yeal & 9w &, ulld wee &1 9 6 @ 2 )

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U we & Wil sel &1 9 g @) e (dmar s A)
gl aifew, aruen 4 offd A o e €

The figure in right hand margin indicate marks.
ard wied @ s QUi @ YA @ |
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(i)

{1}

()

LASER stand for:

(a) Light amplification by stimulated
emission of radiation

(b) Light amplification by stimulated
energy of radiation

(c) Light amplification by strong emission
of radiation

(d) None of these

AR &1 "ddd 2—

(31) arge ydlihaaT 913 EIqds
sfire aifw egaa

(@) erge wucfhaw a1 Wqdds
uwff 3w fsaas

(@) ege welifhaa a1 w
shre=aiie Yeaw=

(@) 9 4 oI el

Electrolyte 1s essentially required m.........
(a) EDM

(b) ECM

(c) LBM

(d) Wire-EDM
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gadgliarge afard wa 9 .. H
AATTF © |

(31) godlouHo

(@) godlown

(¥) vclodlotdo

(%) TR—3oEloTHO

In EDM process, the work piece is connected
to:

{a) Positive

{b) Negative

{c) Earth

{d) None ol these

gniﬁ'ﬂ@ﬂ ufsban ﬁ gedlg....... &
S[eT Y&l @ |

(31) a-ITHS

(@) FvnicHs

(&) aref

(@) 379 & H1¢ 0

In LBM., material removal is taken place by:
(a) Melting and vaporisation

(b) Electrolysis

{¢) Erosion

(d)y All of the above
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LBM # #2Raa Ryad...... g™ gdl 2|
(31) Tt 3N qrefiavor

@) faeggauees

() srueReT

(?) Sudaa w+h

Maintenance of machine consist:
(a) Replace of component

(b) Service of component

(¢) Repair of component

(d) All of the above

gefid &1 AA gldr 8-
(31) urd &1 gl

(@) urd &1 wfdw

(@) ard &t N d

(@) Sudaq i

Production rate is high in:

(a) Fired automation

(b} Programmable automation
(¢) Flexible automation

(d} None of these
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SPM stands :

(a) Special power machine
(b) Special purpose machine
(c) Specific purpose machine

(d) Spccific power machine

T{chﬂ)fov_‘—'lﬂ EﬁﬂT %-

(31) \erd grax 79fi=
(@) Werer yAtord 734
(w) faf¥re gataa w3f4
(2) fafdrse grav weh=

Automation may be:
{a) Fixed

(b) Programable

(¢) Flexible

(d) All of the above
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AT &1 HHdl 28—
(a1) fpaw

(@) wium

SR GEILEG!

(@) Suda af

Fixed automation s :
(a) Flexible

{b) Inflexible

{¢) Both {a) and (b)

(d) None of these

ffeas aifeler ... gldr 2 |

CIRGENICE]

(@) sT—waadfiad
(@) (a1) silx () <
(8) 319 4 ®is «g)

Limit switch detects any object:
{a) With contact

(b) Without contact

(c) Both (a) and (c)

{d) None of these
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(xi)

(x1)

(x11)
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(1) wy® Q@

@) far wud

(W) (31) 3ilx () <10
(€) 399 4 ®Ig T2l

Close loop control system operates :
(a) With feedback system

(b) Without feedback system

(¢) Both (a) & (b)

{(d) None of these

1625501

Fellol oU dgld Ried . adrferd

aldl @

(31) Mred® yoell & wr

(1) fa=r fhsd® gvmell & A1
(@) (a1) @itz (&) <rf

(g) 379 4 @Iz e

Z-axis in CNC milling is the axis of

(a) Main spindle
{(b) Vertical axis
(c) Horizontal axis
(d) All of the above
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(xiii)

(x1v)
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Which of the following code 1s used in
programming in absolute coordinates?
(ay GO
(b) G32
(c)y 92
(dy GOO

NT5036

Freifofaa o @ &9 W @18 o 9g &

armdtT A gAbr dar 87
(a1) G90
(@) G32
(\|) G92

(<) Goo

03 code 1s used for:

(a) Circular interpolation CW
(b) Circular interpolation CCW
(¢} Incremental coordinate

(d) Absolute Coordinate
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GO3 ®I8 & YA ........& fore &far 2
(31) B R geuladeE CW

(@) WXd e gedlaes CCW

(@) gafeded us

(&) oxa gg

Automatic tool changer is used for:
(a) Change the tool 1n scconds

(b) Increase flexability

(¢) Decrease total production time

{d} All of the above

Tarfed < AR &1 ST ... 2
ferg fapam <imam 2

(@) ¥ A g 9o

(a) wdaefafafe qer

(8) gl weurat s wer

(<) Sudaa g

The PLC 1s used n:

(a) Machine 1o0ls

(b) Automated assembly cquipment
(¢) Moulding and extrusion machines

(d) All of the above
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floUclodlo ... } IqA BT 8—
(ar) weli=1 ga

(€) wrarferd el SuHYoT

(g) urfesT SR yaags w2+
(3) Sudaa w

Productivity 1s the........... of production
systeni:

(a) Mcasurement

(b) Efficiency

{¢) Both (a) and (b)

{d) None of these

(xvii) ScUTCHdl Idre YUl bl ... BT = |

{x%viil)

(ar) w9

(@) <eran

(@) (31 s (@) <=0
(@) s @ B3 T

In LASER beam machining process lense 1s
used to:

{a) Diverge beam

(b) Converge beam

{¢) Deflect beam

(d) None of these
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(xvii) oo €1\ wehfr ufsear & o9 &1

{xix)

{x1x)

(X%}

Electrolytes used in ECM must posses:
(a) Low electrical conductivity

(b) Low chemical stability

(c) High electrical conductivity

{d) None of these

godloU¥Ho # FWHIA &I dral
sAagiargey s arfae-

(31) ®u fagga arasar

(@) & IrarfTe Rean

(W) 9o faga darcadl

(&) g% 9 &g =1

Part- programming mistake can be avoided in :

{a) CNC machine
(b) NC machine

(c) Both (a) & (¢)
(d) None of these

P.T.O

https://www .sbtediploma.com

wod ewodipaiqs mmm//sdiy

wod ewo(dipaiqs mma/sdny

1625501

(xx)

https://www.sbtediploma.com

12 NT5036

e g 4 @) geach H A
X faar s awar 2

(31) Woyaodlo A

(@) oo weflA

(|) (@) v (@) =

(<) g9 | 3Ig a8

GROUP B

Answer all Five Questions.

4x5 =20

af) uig yEl 9N o

2. Write different properties of the dielectric fluid used

in EDM.

4

309loUfo # YYI yRfaga aval & fafir=1
o & ford |
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Enlist different types of automation with example.

galevu] & 91 A+ ya R & adrd-d &l

Alag s

Define repair complexity. State its use in

maintenance of machine tool.

HoHg @) dfeddr & yRwifya o |
W9 SUBYUT & WIYEId H gD SUGI
&1 Ui &Y |

OR (31214T)
Define SPM. Write applications of SPM.

UHoWloUHo &I IRATINT HY | THodloUHe &
Sy & ford |

Write the importance of automatic tool changer and

tool magazine. 4
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wWraiferd ga Aok 3y ¢ Aofl & wee
®l ford |

OR(31e141)

Explain servo- control system with block diagram.

i AR & |red gdi Fa=e7 gomefl &1
&N B | https://www.sbtediploma.com

Write the difference between CNC and NC.

HoHodlo AT THo¥lo & 19 IHax &l
ford |

OR(37erd)

Explain the meaning of following code.
{a) GO2
(b) GYO
(c) M09
(d) MO35

fr=feilRaa s & wdee 3Ny |
(31) Go2
(@) G90
() M09
(=) M05
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6. Statc and explain types of LASER.

Aol & bR ford aor earer & )

OR(312141)
Explain in brief the axis identification on CNC.

&g o ‘«Eﬁo@tﬂﬁo X 3E DI YA d 9
A Ty |

GROUPC
Answer all Five Questions.
wfl 9ig geal @& SR <
7. Explain the principle and working of LASER beam

machining with neat sketch. 6
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W a3 & i oo a9 i fugia
qAT BT DI AT BN |

OR (3721aT)

Explain the need of repair cycle analysis in

maintenance ol machme tool.

W< UGBV & ¥EXEId H HNHId d9d
feaigur @ A HAr DI ATET DY |

Define maintenance. Explain different types of

maintenance with examples,

AeA= @ uRwfda &Y | Sarev & e
Hedwq @ A= gy&Rl &7 aaran o |

OR (37214T)

Explain the general element of special purpose
machines (SPM).
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wWerel yAleliy 939 & a9 dedl @)
AT Y |

Write the difference between limit switches and

proximity switches.
0

forfie wdra sty gradpfife g @ 9 siax
fored |

OR (37214r)

Explain the working of PLC with suitable block

diagram.

SUYF e ARG & d1d PoUdotflo &
&1 B AT W |

Write a part program for a workpiece shown in
figure -01. Assume feed rate and spindle speed are

S50mm/min and 1000 rpm respectively.
6
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|} ] !!

N it »

40mm 20mm 40mm
Fig. - (/1

foa wer —o1 W fod wife @ forv ve urd
grar fad | a9 o s v aor Rusd Rus
$HHI: S0mm/min TAT 1000 rpm 2 |

LO0mm
I 20mm

[O00mm
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L
i

40mm  20mm  40mm
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o
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OR (31214T)
Write the main parameters to be considered while
selecting a particular non-traditional machining

process. Explain with suitable examples.

faety wu | A% givaRe wgehfyT uftear &r
a4 Hd 998 faar fey o ared g=1
Al &t fod | 9dia saeven wfea
TR BN |

Enlist advantages, limitations and applications of

ECM. 6

gotloPio & ardl, aRAEET @ik Suahn &
A 17 |

OR (312147)

Expain the following :
(a) House keeping

(b) TPM
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